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The list of the terms related to probability is
as follows.

uTfaeRar | wafua el @t geit 39 UET

Experiment/Ud: An activity whose outcomes

are not known is an experiment. Every

experiment has a few favorable outcomes and
a few_unfavorable outcomes. The historic
experiments of Thomas Alva Edison had more
than a thousand unsuccessful attempts before
he could make a successful attempt to invent
the light bulb.

£ U VAT & P 3ol URUTH 3T &3 uidee
ofioTe g ¥ 9THW o7caT Ufewd & UfdgTides wanm
H URTIT Sedd Rl TSR {4 &1 @ WaTH A
H UgH Ush TN | 3fieR Ewe warE U 9
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Random Experiment/agf3® War: A random

experiment is an experiment for which the set
of possible outcomes is known, but which
particular outcome will occur on a particular
execution of the experiment cannot be said
prior to performing the experiment. Tossing
a coin, rolling a die, and drawing a card from
a deck are all examples of random
experiments.

aftoTHl & WYE {E AT €, eifed wam & fa
favw feores wv «@ @ favw uftorm emom, =w
WA I H UEH Tl FEl 9 Hehal ¢ | Toaenr 3@,
UTET UEET 3R S ® we e adft agtees
WA & IS8T &
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\/ﬁrent/m: A trial with a clearly defined

outcome is an event. For example, getting a
tail when tossing a coin is termed as an event.

wred: gitaiya aftong arem &g 9T g2 gl
2| 3T & fow, faaes &l S8 W U2 3T Us
AT THEeATdl 2l



yovt. exz By ADITYA RANJAN SIR

Random Event/aE{3& WZAT: An event that

cannot be easily predicted is a random event.
For such events, the probability value is very
less. The formation of a rainbow during the
rain is a random event.

o o= &t A 9 wfasgamoft €T @t ST Wt
9 gigfe@e "o g UHr wemnsh & fow wrfaesar
OE "gd W AT g1 AT @ SN 3EUE Sl S
U AgfsE g2 €
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ﬂtcome/qﬁvﬂﬂz This is the result of a trial.

In the process of a sportsperson hitting a ball
towards the goal post, there are two clear
outcomes. He may either make the goal or

miss the goal.

Iz U& udtgor & uftomm 2 fed faerdt g e
@ TS U &t AT " & Wiehar ° 37 W gfiony
B4 ¥ 9% O1 a1 oI%" =T Wehal § 91 ¢ied ° &
Hahdl 2l
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Possible Outcome /T9Tfad 9ftomy: The list of all

the outcomes in an experiment can be referred
to as possible outcomes. In tossing a coin, the
possible outcomes are head or tail.

fordt wam & weft uftomal @t gt & gurfaa gftom
FET AT Hehel &1 Uk Toaent oo™ uv durfaq uftomy
foa o w2 B #
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\}{lually likely Outcomes/H{HH ®U d gurfad

Uiiud: An experiment in which each of the

outcomes has an equal probability, such
outcomes are referred to as equally likely
outcomes. In the process of rolling a six-faced

dice, the probability of getting any number is
equal.

u yam faad yae uftomm &t wue duraEr gt
&, U9 uftomat & 9o ®u 9§ gurfaq afitomg wer
ST €1 D% WEN Ut Wl UA @l Wihdr W whig ot
=T U B i GUTEAT sTaT gt 2l

P (any number) = P
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Sample Space/ufaayl @ufe: It is the set of

outcomes of all the trials in an experiment.
On rolling a dice, the possible outcomes are
1, 2, 3,4, S and 6. These outcomes make up

the sample space. S={1, 2, 3, 4, 5, 6}

qg U WA H | udieron & uftomdt @ wgE #
Us UTH @l gHM T, G9rfaa uftonmw 1, 2, 3, 4, 5
I 6 31 A uftomm ufaeyt wufe =@ 21 S = {1, 2,
3, 4, 5, 6}

Sqmple Space — § H,T}
Di¢ §"2'3'“»3,e}
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obable Event /d9ad 9291: An event that can be

predicted is called a probable event. We can
calculate the probability of such events. The
probability of a particular child being promoted

to the next class can be calculated, hence, we can
refer to this as a probable event.

fow e & wfgwanft &t =1 g@dr & 39 Sufaa
AT el SIaT §1 B UHT "SHredl St WWIEHT hi WOrAT
&T Hehd &) fordr faviw == & a0 &8 ¥ u2=d
EM Shi WYTEAT ki TOTAT ki ST Hehdl &, 3AfGU, W
TH Us AWIfad 921 & &9 § dafda &7 9ad 2|
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Impossible Event/31H4d ©ZAT: An event that

is not a part of the experiment, or which does
not belong to the sample space of the
outcomes of the experiment can be referred
to as an impossible event. There is no snowfall
in a temperate climatic region. Here, the
snowfall can be referred to as an impossible

event because the probability of occurrence of
such an event is zero.

Ush 9T AT WA & fgEar WET g, 4av WA wanm &
aftordi & wfaeyt gufe & gefua = &, 3@ srwva
AT HET AT Gehal &1 WHYMET Forarg ot aF o
qEaTT TE B &1 TET BN @ TS E¥d g
FET W1 Wehal § Sifer UHT WSAT & Wied g+ i
HUTET I E



PROBABILITY / 9T dT

Probability is the measure of the likelihood of
occurrence of an event.

urtaerar fadt w2t & ufeqd 89 &t 99T9=T & 919 2

That is out of all the possibilities arising out
of a certain random experiment, the chances
of favourable outcome is measured in terms
of probability.

Hqq Tk THfvem agfms wam 9 sa= g+ aret
gt F@uEArett § W, 3 ae Uiung @ WHEAr @l
grfaehar & ®9 H WOT Sar 2
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N—> Total Expe
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Hence, if in an experiment there are 'n'
occurrences out of which 'm' occurrences are
favourable to a particular event E, then the
probability of the event E, denoted by P(E); is

m
defined as P(E) = i

gafere, afe fodt v & 'n' ge=d € fosd 9 'm’
e fodl faviw 2= E & 3 a&e &, @ 92 E
&t wifgerar, P(E) g1 fAsfua &t St 2; P(E) =

% & w9 § ufrarfua faar mar 2
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Also, the non-occurrence of the event E, is

denoted by E, that is (n-m) in this case. So,
(n-m) occurrences are not favourable to the

event E, and favourable to the event E.

|1y BT, 39 Ul § "UeAT E & 9fed 7 &1 &l E,
I (n-m) | FITAT ATGT 21 AT, (n-m) FSATC ST

E & 31 ahel &1 &, 3llT U1 E & 3 &hdl ¢l

-. P(E) = -
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We can observe that, P(E) + P(E) = 1

Note: From the above discussion, we can infer
that, O < P(E) < 1 in all the cases.

If P(E) = 1, the event is called a certain event.
gfe P(E) = 1 £ o e fAfyem ge=r sgart 2

P(E) = O, the event is called an impossible
event.

gfe P(E) = 0 § @1 9T 3TH™E U1 Shedrdl &
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1. If the probability of winning a game is 0.3,
what is the probability of losing it?

afz frdt @@ o et & wifaesar 0.3 &, o Iau
TR W Wifaehar &= 272

(a) 0.9 by 0.7

(c) 0.8 (d) 0.6

Pe)- 03 PCT) =)

And P(E)=- PCe)

-~ \§03
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A A v '
0wk comes:= _1 2,3 q' S.6,7, 8 q io 2. What is the probability of a prime number, if

we select a number from first 20 natural

ll 12, l3,W,lS 6, n,le

\/ numbers?
1920 afe 90 WIW 20 Wighfas WEmsi § § Us W@ &
I T £, A I GEAT & U B i UTiheRdr
P(e) = prinu = g 2 g
(1-20) 20 S 1 4
(a) 5 (b) 5
1

\,/3
(c 5 (d) a
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There are 3 white and 4 black balls in an urn.
A ball is selected randomly. What is the
probability to be white -

Uw wewr 4 Q) uErE 3T @t W2 ¥ uH NE
argfeser ¥ | AT A@T &1 3HE A% B Gl WIiehar
T E-

1 o
@) b) -
4 o3
(°)7 (7
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oubcomud = 89 4. A bag contains cards which are numbered from
2 to 90. A card is drawn at random from the
L4 |q| 6,25,36,49, 6%,83 p/ ﬁag Find the probability that the card number

is a perfect square.

UF 97 § &S € T Ut 2 | 90 da WA 3iferd

Ple)- F T 97 § | U e agfme v ¥ feen s 8
89 uTfarerar #Ta Fifau fas &2 wen v qui at )
. L
T ®) 89
8 1
d) T4

89 10
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s Tx18 )7 6W 5. A jar contains 54 marbles each of which is
P(Blu): -3To+OJ blue, green or white. The probability of
selecting a blue marble at random from the jar

en) = m - green
9(8“ ") e fb{-al and the probability of selecting a green

B+G+w = Sy marble at random i How many white

| -
B+ +Ws= SY marbles does the jar contain?

UH W W 54 wel § fEH A e Aom, g7

m?nwﬁmmﬁmﬁaﬁmww
wTfaraRar 5 ¥, BT ®Y W SEA @ UdeRar 5 z!

AN o foraa g &9 72

M (b) 14

(c) 16 (d) 20



Q. How anany mumbers OM fha fwm L 40 10D

@ divisible by 3 = J_%Q- - 3383 ~@3)

divisible by § = _100 = o
® Y =
. Nx~® @D

L\ y
: RUCTTN n(n)m(e)m(ﬁﬂe)
M (301) =D(3) tn(s)- N(3ns)

= 4o S

:@\/

@ d.'v.'so'bk b‘fi“( =
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Find the probability that a number selected at
random from first hundred natural numbers is
a multiple of 3 or 5?

uifaahar Ja @ifau fo ugelt O wigfas @@ o
¥ argfege w9 | A TE WE&AT 3 AT 5 W OTA € ?

53 47
@) 700 100
3

(c) E (d) None of these
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CONCEPT OF FACTORIAL / a»'m;ﬁ'l?-r T TR

"ﬂ.' or [0 The product of first n consecutive natural
numbers is called as n!
51 = SXUX3X2X| WY n AT Wik Wil 1 UG n! FHgard §
4! = Yx3ax2x |\ Ex. 3! is defined as product of first three natural
numbers.

3! Tl gl oI Wiehideh Q&R & 39S & ®9 H
gfrarfaa ferar T 21

3!=1x2x3

3!=6

1'=1 2!=2

3!=6 4! =24

o! = 1206! = 720

Note : O! =1



¥ _U.‘-'@ ¥61 = 120

3 H1 = sSo40

y 31=3x2x1=@

¥ 4l =dx3xex) - gy

* Sl:
=120
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0. __fg‘_g - S5XUXRXext =20 51
3! 32— Ex. a1

! <A - 7!

ImP%!:iJ 4!







Basics of Permutation & Combination

w

Without Repiti tions )
Permutationy S EIN S EY KT
i | QnS= Ux3x2
With ReP;HHonS @ .
E E’ @ '_; OI X3X2Xl-2(1
— \{ p——
q e &SG
Qng hY~\_"{\‘
~?S6
J




W4 Permutations Formulae/ ##A99 §3

= The number of permutations (arrangements) of 'n’
different things out of which 'r' things are taken at
a time and where the repetition is not allowed is:

'n' fafi= Tt & wvea (=awEr) & wen, v 3
a5 Ush A9T Ut T8 § 3T ST GWigha & T Hia el 8

T - B n!
PB - M | Pr o (n_r)!
(n-¥)!
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= Using the above formula, the total number of ways of

arranging n different things (taking all at a time) is n!.
IUTF GF & I9AN w9 gU, n fafe= <ie = sgafiea

& @ diehl i hel GE (TH WG § 9 i faemat )

n!%l

Because in this case/ #if&# 70 figfa H, r=n

-nPn: n! =E!=_n_.!.=n!
(n-n)! O! 1

GATE
\)“Pl): f‘n\l -~
O!




o [pATE] = 4P, = 4! =24

€ °fs = 51 =120

Cx- NmM S
A OLE PS :6!?\120\/
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Permutations Formula WITH Repetition

g & 99 %waud 99

When 'r' things from 'n' things have to be arranged
with repetitions then number of permutation= n"’.
This is because each of the 'r' things can be
selected in 'n' different ways, thus givining n x n
XnX,. Xn(rtimes) = n".

gfg 'n' Wl ° W ¢ WS @ GG & 91 SJaiedd
AT EaT & Al heed &l &A1 = n' | U1 g9fag § ife
e 'r' WS Gl 'n' EW-ICN @Rl W OTAT ST Hehal
T, WUEI nxnx .. xn(r 9¥) = n* WA AT 2

Ons: nY






Some important Result on Permutation:

~ n! nl
(n-0)! n!

A i P,

n! n(n-1)! B

- || (n-1)! (n-1)!

n
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7. In how many ways can the letters of the word

QUANTS be arranged (Repetition is not
allowed)?
QUANTS vi&® & 37 &t fovaw ot | =afias
fman < wewen & (ST @ arwla W@ §)?

& 720 (b) 616

(c) 480 (d) None of these
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In how many different ways can the letters of
the word 'ADITYA' be arranged?
e ‘ADITYA’ & & 3e-3em fahat @E A

g T =T Wehd 87
(a) 120 (b 360
(c) 480 (d) 720



|

€x-
y- ABBCL
X
/ x- AGCDODDD

6!

2 31
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9. In how many different ways can the letters of
the word 'BANKING' be arranged?
v ‘BANKING’ & a1ai &l fa=-fa= ol |

ferar s geRar €72

(a) 5040 (b) 2540

(c) 5080 2520
BAN kTN G

s |




" 4 ® 4
1 ANMOL
KOO X
NODO X OO
| 3 4l (i
= 11X3(xlI = IX6x]
=_Ixsx1 -6
-6
264 @)
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10. In how many different ways can the letters of

the word ‘DESIGN’ be arranged so that the

vowels }r\e/ at the two ends?
vieZ ‘DESIGN’ & 3180 &l 3Te-37an feradt @iE
q forar ot gt € & = 2F 8 uT 87?

ay 48 (b) 72
(c) 36 (d) 24
1
6 = Q({




Trick:

v

v

ANMOL

Vowel

B
-

together , _  _ _

Vowe| | x (¢onsonant +1) 1
91 xq)
QXQq.
T8

=
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In how many different ways can the letters of
the word ‘RECTITUDE’ be arranged so that the
vowels come together?

viE ‘RECTITUDE’ & 1&g &l fohee wan & yradiafiaa
ferar = werer & anfer it w@w e W 3mu?

(a) 4302 (b) 7200

ey 3320 (d) 4430
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12. How many words of three letters can be

created using only consonants of the English
alphabet?

HUS FAUHTAT & haol Al ol Uk &l &7 WIM
HTA U A1 T & fhad v @ o gehd 87

af 7980 (b) 15600
(c) 6000 (d) None of these
COQSOGQO{ S Q|
Q]
P3 = QI
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13. If there are 10 pairs of socks and you choose 2
pairs out of them, then
(i) Number of permutation, If repetition is not allowed

wHEd i WA, afq qATgta @i rwia T w6
(ii) Number of permutation, If repetition is allowed

wUEd W G, afe gyt @ aremta w6

(.\) nPY - |OP2 B ﬂ_

= |
ar =10Xax8t - q

L) my _

¢
0" = 1p

ey
——
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How many 3 letter words with or without
meaning can be formed out of the letters of
the word_SWING when repetition of letters is
not allowed?

WE M Wl YAgie @t 3ufa W@l & af SWING
v & 3G | 34 wfga O far 214 ae fea 9=
HYT AT V1T FATT ST Hehd &7

\(a) 60 (b) 72

(c) 90 (d) None of these

51
—~2. 2 BXUY
Q| - 3)(/2/'./:60

A

=y
o=
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15. How many 3 letter words with or without
meaning can be formed out of the letters of
the word SMOKE when repetition of words is
allowed?

W& TRl sl QAgia @i 3Hfd & @ SMOKE e
& T |/ e wfga @ far 214 o e @9
HYT ATl Y1eF AT AT Hehd 27

_(ay125 (b) 150

(c) 160 (d) None of these

=mY
3 - =3
LK S ':\25



Some Important result on Combinations

) m |, Y The number of ways of selecting n objects out
(n-7) ¥ of n objects is:
™ n T3 U ® n FEGAT &I AT & di0ehl kil WS 8

n! n!

B le nC":n!(n-n)!:n!O!:1




Some Important result on Combinations

x The number of ways of selecting n objects out
of n objects is:

n T3 U ® n GG I AT & di0ehl il WEAT &

!
"G - n! _ n! il

™ " n!n-n)! n!O!
Pr):l "'l(n: 2{ :®

(o) 0! myf
s M| '
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The number of ways of selecting O objects out
of n objects is:

n TN U /0 T W I & aiiehl i WE §:
e n! ~ nl! 1
° 0Yn-0)! O!n!

M = 7!
(n-0)t 0

o
nF
0
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= The number of ways of selecting 1 object out
ofn 3gfects is:
0" 1 FE3l AT @ ailehl i WEAT
5 n! nx(n 1)!
' 1in-1)! (n-1)!
‘T\9| - 'n'- rn(| - '7\'.
(n-1)! (=)t x 11
= D0y = _m(n
\ /'04.,



(8asic)
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16. Amit has S blue, 4 red and 3 green socks in
his cupboard. Out of this he has to choose 4
socks. In how many ways can he do this?

Hfud & e §_5 A, 4 Fe I 3 T OA €
A0 H IW 4 U oA € 98 e e | wEr @

Hahdl &7
(a) 245 (b) 120
oy 495 (d) 60

12
C = 1! = )X e
L 81 x¢y P B < Yqs

)"./xmﬁ'xz”



(8asic)

r all g PX3 BY ADITYA RANJAN SIR

16. Amit has S blue, 4 red and 3 green socks in
his cupboard. Out of this he has to choose 4
socks. In how many ways can he do this?

wfaa &t 3wt § 5 A, 4amaﬂr3ginﬁ%u
gnﬁﬁaﬁ4uﬁq=ﬁ%‘|agmﬁmﬁﬁmw

Hahdl &7
(a) 245 (b) 120
e 495 (d) 60

12 S
Cq = J2MEYq < yqq

Dx3xx |
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A school team has eight volleyball players. A
five member team will be selected out of these
eight players. How many different selections
can be made?

U et @l 219 H 378 diciare faenst g1 39 3118
faenfeal & 9 e wawa 2w == S e
-3 oA fohu <1 Wehd 72

(a) 224 (b) 112

\(})’56 (d) None of these



18. A group of 3 lawn tennis players S, T, U. A
team consisting of 2 players is to be formed.
In how many ways can we do so?

3 @i 2fm faenfsal 8, T, U &1 U& #HEl 2
faenfeal &t e &9 @92 S 21 g9 vEr fead
TH H HT TEhd 22

\yy’s (b) 4

(c) 5 (d) 6



. Qnd (33??) =X

- or (AT) = +
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19. In how many ways can a group of S men_and
2 women be made out of total of 7 men and 3

women?
& 7 qEul A 3 ufgensi § W f@adt @ ® S
TEY, 31T 2 Afgersll &0 9qg a=rar S Hahdl 27
i 63 b) 45
(c) 126 (d) 90
Men women
3HC5 3(‘2 Qnd: &lxa =63



" QUESTION BASED ON COINS
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When an unbiased coin is tossed once:
wa fodt us foas &t U 9 I9Ten ArAr ® At
Possible outcomes are /&= durfad ufiomy
2" =2'=1

Sample space > Head and Tails
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When two unbiased coins are tossed
simultaneously.

wa & foad ® UF U W IerEn 9w oE
Possible outcomes are /@& d@uriaa wiTomy
22 = 4

Sample space = {(H,H) (H,T) (TH) (TT)}
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When three unbaised coins are tossed
simultaneously.

wa d foaas & uE U Wy I9Ten wrar € Al
Possible outcomes are/## #uriad qiiomg
2°=8

Sample Space = {(HHH) (HHT) (HTH) (THH)
(HTT) (THT) (TTH) (TTT)}
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When n coins are tossed or single coin tossed
n times:-

g n Toas &t % UH WY 39ar s fAEw @ on
AT IVTAT ATAT § AL
Possible outcomes/#&# wurfaa ufiomyg = 2°



-
g
\\)%_12_
i)
)

20. Two unbiased coins are tossed up
simultaneously. Find the probability of getting

a1 foy faast & v qry o e 8 e uftom
T 1A ahi WTTdehar ATd shifAw]

(i) Two tails/aT Uz

(ii) One head/Us o

(iii)At least one tail/&" ¥ &H Us U2
(iv). At most one tail/3ifier T 31fus s Uz

(v) No tail/#IE Uz F&l
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21. If two coins are tossed aimultaneously, what
is the probaility that one coin will get head
and the other coin will get tail?

afzs 7 foat = U W9 IVTON AT E, 91 THR!
& witaewar & T us fages o g3 3w W gEe
faas uv 2@ 3mum?

Iy b) -
2 3

2 3
(€ 3 @ 5
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9'3 - 8 22. Three unbiased coins are tossed up together.
Find the probability of getting.

HTT = mfaea faaenl & U W19 IVTem W4T €
CE: fre= aftomy &= &t wifaear 3@ &)
ITh (i) all heads/@4T oA

Al (ii) at least one tail/®" ® &H UH U
(iii)exactly 2 heads/fawHe a1 foa

®-%. @ 3

3 = © at most 2 +aijls. ©:1,2)
e
@ Qt wnost 1 taiL (()'1) S -

M0
g2



—4-1-1xXIX
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O
S
n
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—H—H-H- 23. Three coins are tossed, what is the probability
!I". -'I_; that neither 3 heads nor 3 tails are obtained?
TT a1 ook 3o A9 £, a7 39 91 i Wiidehar fapaet
+ il ¥ f 7 A 3 ¥ aiw A @ 3 3o W A
' 1 1
(a) 5 (b) 3
= & 2 3
,8’% () 3 47



o
L

ATHS

o

IIIII::

H4444-xx
.I-II'I-'—'-|-'|:-I=

—~
- ==l

e

=~ T LA 44 x x
s X AL AxHX

ECTTR I &

(&8

24.

BY ADITYA RANJAN SIR

Four coins are tossed simultaneously, what is
the probability that at least three coins get
heads or tails?

u faaenl & U WY IVTEn AT € T gEent @
wifgerar & for &0 & &0 &9 faas @ 2T @1 2@
37TT?

5 5
N (b) 77
7 1
(c) 6a (d) 8
thz’lz
1% 35



ATHSE)I: or all govt. exz By ADITYA RANJAN SIR

Totol = 25 = @ 25. A coin is tossed 5 times, what is a probability
of getting exactly 2 heads?

Cyowty 2 Heady = 5¢y =%2=@@faﬂ%ﬁswmm%,aﬁazfﬂaaﬁ

&l UTfaehar &&T 27
8 6
om- 1o S (@) 55 b) ¢
3216

4



ATHSKI r all g pXa BY ADITYA RANJAN SIR

TOI-QL ouwkcomes = 283 256 2. A coin is tossed_8 times, what is a probability

of getting exactly 6 tails?
. 8 U faas &l 8 A IJrew AT €, IH 6 UT A
Exodqumlg-qu - sl

= BXMX S Ux3- B "

) E¥SHBY2X)  (a) 20 b) 15

“@9)

7 1

Ing- S8 ~ ©) 13 14 6Y

5% &Y



ATHSE): or all govt. exz By ADITYA RANJAN SIR

OTﬂu C'CO .. ! 27. A coin is tossed 9 times. Find the probability
of atmost 2 tails.
1 Toik QC,:_C_LL:&‘Z-( U faaa 9 aw Iwren s €, sifasaw 2 9T ot
T B8r ! WTTaehdr FTd shifa-
2Taks Cy = Qx84 = 3¢ 23 25
_2X | (@) 550 (k) Ss6
- g 27
Otal outomes. o _ 512 - -
Mg: 46 23



govt. ex: | BYADITYA RANJAN SIR

28. A coin is tossed 7 times. Find the probability

M'
s faaer 7 & S@en ST ) W W %W 2 92 3
@l WTTaehdl FATd ahifeTu-
14 .16
@) 1s ®) 54
18 15
(€) 73 9 Je

M- o5 15

_2g— |
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" QUESTIONS BASED ON DICE
a9 TR 9o




%  When a dice is thrown once/¥@ f&dl g & U=
AT Thekl WTAT &3
Sample space = {1, 2, 3,4, 5, 6} =@

md




(oins ice

m

Totod oubcomug= 2" =

I

Quins — o* - ¢, S Dice — 67 36
3 I

|

—58"= §

| | l




ATHSKI r all g pXa BY ADITYA RANJAN SIR

1.2,34,5,6 29. A dice is thrown, find the probability of:
o Ush QTET @&l Bert W g, Fer aftome wra &= &6
P'rmu—)?,?,s =@ wﬁrm&tmaﬁfaq |
(i) a prime number/U& U= TWEAT

Qang = % _2)_ (a)

(c)

N &

WN (AR

& 2
@



ATHSKI r all g pXa BY ADITYA RANJAN SIR

29. A dice is thrown, find the probability of:
el ol i Ueh UMl &l Thanl war ¢, FeT aftome wma & @

mulﬁph%?m':&: qu|6,3 -
(ii) a multiple of 2 or 3 /2 4T 3 @Al TUTeR

o= 2% = 3 2
% % @ 3 N

4 S
(c) 5 (d) P



or all govt. exz BY ADITYA RANJAN SIR

29. A dice is thrown, find the probability of:
Ush UTHT & Wheh! wrar &, e oftomm wma &3 =t
UTfehdar ATd hilau:

(iii) .a number greater than 4/4 o 91 e

1 2
(a) 5 (b) 3

S 1
(¢)§ Wg



ATHSKI r all g pXa BY ADITYA RANJAN SIR

v v v’
1,2., 3, S. 5,__ A dice is thrown, find the probability of:
U UTH Wl BeRr wrar g, e uftorme e @ &6
) & wifaasar F1a Sifa:
/g 2 (i) Getting an even number/HH H&EAT
i) X1 (ii) Getting an odd number/fauq TE
B 2 (iii)Getting a natural number less than 7
7 | Bl Uighfder &
l“) ’% @ ((?HQU\ ewn&) (iv) Getting a natural number greater than 6
iv) O 6 ¥ TSN Wighfaeh W&
N ke (Tmpossipie event ) 6

3odd Jwtv



Q-Dice
Toral Outcomes = 6°= 86

1 2, 3, 4 S S

-

((,l). (h2) (1,3) C':JV) CtsS) ((,67
@) 22) (23) (2,4) (2,S) (26)

3,
2!
3,
4,
S

6




WE g UTH Us WY B A1 8|

BY ADITYA RANJAN SIR

When two dices are thrown simultaneously.

Total number of possible cases = 62 = 36

Sample space:-

™=
1
y 2
Second 3
throw a
S5
6

1
(1,1)
(2,1)
(3,1)
(4,1)
(S,1)
(6,1)

2
(1,2)
(2,2)
(3,2)
(4,2)
(5,2)
(6,2)

3
(1,3)
(2,3)
(3,3)
(4,3)
(S,3)
(6,3)

» First throw

4
(1,4)
(2,4)
(3,4)
(4,4)
(S,4)
(6,4)

S
(1,5)
(2,5)
(3,5)
(4,5)
(S,5)
(6,5)

6
(1,6)
(2,6)
(3,6)
(4,6)
(5,6)
(6,6)




ATHSEI or all govt. exz By ADITYA RANJAN SIR

Note: 5@ &4l f 31 Dice &I IV & aF U W& & Sum F! Probability &t Fd &t
I T, 9 W H 1 %W &1 310 Total No. of cases (36) ¥ Divide & 79T afF sum #F' value
6 ¥ 31faas BT A sum & 13 ¥ § 921 &7 36 ¥ Divide &1

63) 4

4.6)/(5.%). (6.4
10 J )/l *H ) 3

N

/ Total —» 36
/

Sum Cases : No. of cases Probability
1
1,1 S
2 \ (1,1) / 1 ~
2
3 1,2), (2 2 —
pae u
3
a 13, 233y | G) =
(1}4), (33) 4
. (3.%), (4.1) “ 36
(1, 5» (3 3), 8
» | @ 6) (3 4), & 6
(4,3), ( ) (1,1) 36
s | 2 6) G5, 4, 8 s
(5 3) ¢ 36
..
36
-
36
2
36
A
36







QﬂS: ‘& )
Y

30Vt exa BY ADITYA RANJAN SIR

31. A dice is thrown twice, what is the probability
of getting a sum o@when thrown twice?

Ush UTET 31 A7 WeR! STGT & 7 &1 Beh &4 & 7 &1
AT 3T W waTaar feat £

5 1
(a) 18 (b) 18

© 3 N &

-



: or all govt. exz BY ADITYA RANJAN SIR

32. Two Dice are thrown simultaneously. Find the
probability of

37 UTH Uk WY ek W0 &1 WITGehal A9 Hifaw-
(i) Sum as 8/41 8 &l

ang - S 5 -
- A 36 b 15

1 11
(c) 6 (d) 36



32. Two Dice are thrown simultaneously. Find the
probability of

a1 UTH TS WG W WA § | Wiiaehar F1d shife-

(ii) Atleast a sum of 9/UI'd ANTHE HH H &H 9 &

3 -

@ 5, ®B) 5
S5 6

ST 15 @) 75



Dice ~~—» Tora outcorus =6"=36

— =

| S oudeomy 6 ouonuy |S oudtomuy
C\n |) {
(Smo.u, (que) (?‘2) ( quC,ErmU)

(1,2) @B (g5 (33 | 69 (i) (W3] (2) ()

C13) (2"4)(315)(%6) Sy E:l:;; ) iy (3,1)
C(ll.q) (25)(3,6) (5,5) (6,2) ($12) (Y,




30Vt exa BY ADITYA RANJAN SIR

32. Two Dice are thrown simultaneously. Find the
probability of
21 UTH Ush |1 ek WA &1 WITaehar FTd shifau-

(iii) _A doublet i.e, same number on both the dice
1 9TEl U Us B e

1 1
(a) 8 (b) °

1 1
() 3 J¥ 6



IMATHSE)L: ,
(2:3) (216), (qlg), (“h(‘))
(.613), (6,6)

(3,2) (3,4) (3,6)

(6,2) (6,4) (8p&d

ang = I
\ 36

govt. ex: BY ADITYA RANJAN SIR

32. Two Dice are thrown simultaneously. Find the
probability of

21 UTH U WY ek WA &1 Wifaehar FTd shifou-

(iv) A multiple of 2 on one dice and a multiple of
3 on the other dice/Us U U7 2 & TUTH 31T

48T U’ 9T 3 TUTH
15 o
® 25 b) =5
11 15

(d)

(oY 36 63



ATHSE): or all govt. exz By ADITYA RANJAN SIR

CLGquu Smal!) ‘ 33. Two Dice are thrown Simultaneously. Find the
1) (3: 1) (2, ) probability that the number on the first dice

(6) (&) ©° ) i than th ber on the 2nd dice?
(6,2) (52) (42) (32 ?more an the num ?r on the 2nd dice
(6,3) (53) (4:3) a4 UTH Uah H19 Wah Wd &1 Ugel UTH UT @A gE
(64) (sy) qre U "En § e g &t uifaeear J| e
6,S) : ‘
(a) 5 (b) E

ng - G4+ @ o
=t 5 12 6



ATHSE)I: yovt. exz By ADITYA RANJAN SIR

&

‘3@ S@ 1,“? ‘ ”'@ 34. Two fair dice are thrown. Find the probability

_C_alﬁ of getting a number whose sum|is divisible by
Hum Q (2 or 4?
Sum 4 3 2 oy o o S € 98 wEr fawer w2 oo
Sum 6 5 4 ¥ fawr=m @, @ UH WEw ™ W wifgwa §E
Cum § 5 Fi?
Sum 10 3
Sum 2 1 s

\J() > b))

ng=48 | ©) = @ 5

36 2 3



DMF ATHSE): pr all g¢ PX3 BY ADITYA RANJAN SIR

A L
qum- Q|3,@ 5.6 7@ 9,10, H@ 35. Two fair dice are thrown. Find the probability

of getting a number whose sum is divisible by
2and 4 ?

Sum4 > CGBSCS L(m(z,q):@ammﬁ Ad £ 9% qeEr faaer 9y 2 aiw
Lum 85 S 4 | faur &1, a1 TH | 3’ il Wiigehar 9 w7
Sum 129 1

&

S5
(d) -

(a)

@
M%&, (c)

Pl Wi



ATHSKI povt. exa By ADITYA RANJAN SIR

3,4,5 @'l €,9,10 u@ Two fair dice are thrown. Find the probability
of getting a number whose sum is divisible by
Lem(2,3) (2 2nd
=® a1 oy o @ W ¥ a8 we famar aw 2 3w
W 3 ¥ fawra &, A T WEA I W WA W
Qum 12 — 4

Oy

\Q{R o]

1
6



QUESTIONS BASED ON PLAYING CARDS '
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o) 1S AMATH SE11): or all govt. ex: By ADITYA RANJAN SIR

Playing Cards/dTel & Ycd

o2

AN

13 - Cards |13 - Cards |13 - Cards | 13 - Cards
Diamonds | Hearts Spades Clubs

(RED) (RED) | (BLACK) -
E[GC
L v A ( A

Ace 1 Ace 1 Ace - 1 Ace - 1

2 2 2 2
3 3 3 3
1 4 4 1
o o o o5
O O O O
7 7 7 7
8 8 8 8
9 9 9 9
10 10 10 10

Face Cards

King King King King

Queen Queen Queen Queen
Jack Jack Jack Jack
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‘ . o o678
S & I E I AR k3 Bt e
W ® 7 * } i o ¥ TG
A 3030100%0900;00?00?0‘0.
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d A sl & e ala ala ala ala ala a
T T e [ & [l6 aFs oie oe ols olla o
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\L* » Pt % e ol e
d ol e e ee el v ¥ vl 9
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36. One card is drawn from a pack of 52 cards.
What is the probability that the card drawn is.

52 UHl i Ueh TESr W W Uk gwr FHamrenm wwavr #
&g o fe uftorm wra & & wifaesar == 2

(i) An ace/Us ST

4 2
(@) 75 (b) 5g

1 S
\‘/"( 13 (d) 1g



ATHSE): or all govt. exz By ADITYA RANJAN SIR

36. One card is drawn from a pack of 52 cards.
What is the probability that the card drawn is.

ans - 2 52 UHl i Ueh TESr W W Uk gwr FHamrenm wwavr #
\ /5;y 518 &re gt e uftomm wra &9 st wrfaesar == 2
(ii) ‘fa Red suit/@me T kT 10
Combinatusm -
5
Totalds2  Red(i0)» 2 (a) = (b) =
2
Qng - Cl

2
(€) 39 (d) 5



MATHSEI): r all g pXa | BY ADITYA RANJAN SIR

9 36. One card is drawn from a pack of 52 cards.
¥ P(fawe ad) = &. What is the probability that the card drawn is.

52 UWl @l Ush MESt H H Uk gwr fHeprenm wmEr €
&1 uv faer uftomy wra & & wifaesar = 2

# P(Face cac ) (iii)A face card/Us: ®H e

Red ,52' 26
¥ P(Fau(ard) < S (a) = (b) -4
Hear ) 15 14
N

6
%t d) ¢



R “  _ 26+4+2 -
ORcddYKmq z is 25%./

O Red and Kina = ’S% _2‘_6



MATHS DUEK pr all g¢ . ¢ BY ADITYA RANJAN SIR

36. One card is drawn from a pack of 52 cards.
Qns-= 26 +2 _2&' ] What is the probability that the card drawn is.

Ts2 573 szuﬁaﬁ@@ﬁﬁwwmm?l

U \}fl yTfaehar & 2|
(w)o ar @ ar qr s
(@) ﬁ \9/13

(€) = (d) 15



ATHSKI r all g pXa BY ADITYA RANJAN SIR

36. One card is drawn from a pack of 52 cards.
P(BlOCIL %U-w’) What is the probability that the card drawn is.

52 UWl @i Uk TSl H H Uk gwr fAemren wrer #
:.%5-6 e e aftomm wra &= @t wifaesar @ 2
\(y)/macﬁ and a qX€en /e 3T TEH T

2 =
) 30 ®) 20

8 1
) 35 ¥ 26



37. One card is drawn from a pack of 52 cards.
What is the probability that the card drawn is.

52 UWl i Uk TgSr W W UHk Uwr fHamrenm wwer #
&re w fre aftorm wra & &t wifgear == g

(i) ajack, queen ora king_/—@ ek, TAT AT =

2 G A
S 8
M 3 b) 15

9 3
o) 3a \(}/ﬁ



ATHSEi): or all govt. exa By ADITYA RANJAN SIR

37. One card is drawn from a pack of 52 cards.

-\
+ i = y What is the probability that the card drawn is.
d %ﬁ 52 Udl W U TS W A U gwr Frapren wwr #)
ans = -9 @ &re 9T fe uftomy wra & &t wifaesar &= 2

13 .
(ii) Neither Mr a king/Y e 9 B
n?2 T E T

= N
ang = §§ 3_ 9 13
S22 13 (a) —

18 ®) o

S5
© 12 \(d)/l%



ATHSKI r all g pXa BY ADITYA RANJAN SIR

mi 37. One card is drawn from a pack of 52 cards.
= pA) = A _L What is the probability that the card drawn is.
sz I3 52 Ul Wi U TMgSt H ¥ Uk gwr frewrenm Smer g

#1g W fre aftomm ura & &t wifaear @ 2
v
I3 13 (iii) Other than ace/3&hT & 3TETal

= ans = l L =

15 14
© 14 @ s



DUF or all govt. exz BY ADITYA RANJAN SIR

37. One card is drawn from a pack of 52 cards.
What is the probability that the card drawn is?

52 UWl @i Ush MEST H | U uwr fHepren wm@r )
@ W e uftomm wra & & wifaesar == 27

Ons % | (iv ed king /&1 AEYNE
2 6 (a) 13 \‘b)/zls

1
(c) 52 (d) 13



A P [ [l afle 2fe afls afla 2fla 2
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(%) & LI E IR k3 et i
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0&0500;00500500700{}00’

T L v [vVlv viv v[v v[v vlv,v

vo|v v/ vy

¥ v (vo|ove ¥ VIV Y
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T e F o e ofs ofis os oo olla o
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- @ o |& ala%e 2200
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BY ADITYA RANJAN SIR

Jacks, Queens, Kings and Aces of red color are
removed. From the remaining cards a card is
drawn at random. Find the probability, that
the card drawn is a black queen?

e I & TEH, 9N, SE9nE T gE@eR ger fau
AH £ VY UAl § ¥ US uer agfese w9 § faren
T T AW W UTaaRar 87

5.} .2
@) 20 ®) 15
1 1

¥ 22 9 30



MATHSE]1):
19wkt MBladl

BY ADITYA RANJAN SIR

39. A bag contains 13 white and 7 black balls. Two

by, —> Aeth ev+ﬁer Whe

Qlacu

balls are drawn at random. WHQt is the
probability that they are of this same colour?

@ﬁnﬁ1smaﬁr7mﬁﬁa%’lmaﬁ%
a9 Tig fraet W € e S f T & T &
HHTEAT T &2

41 21
(@) To0 (®) 90

59 \9/99
(€) 159 4790



BY ADITYA RANJAN SIR

A bag contains 13 white and 7 black balls. Two
balls are drawn at random. WAQt is the
probability that they are of this di{;bm»tolour?

U 97 H 13 Aha 3T 7 & g &) Sarda qiren
¥ a1 T e S §1 g McD3obhT & B @
HHTEAT T &2

41 21
(@) To0 (®) 90

59
) 159 \(9/”{73

"“-TOM~ pw
FM?T0N~PC(%



ans = ‘H«

o A%

2
13

yovt. exz By ADITYA RANJAN SIR

40. A card is drawn at random from a deck of 52

cards. then find the subsequent probability
that this card is a king ;@f queen?

52 UHi @i Uk Tgsl H H AE@e 3MEOX U T
uwT fAeTen Sar € 91 39 W @ uifdeRar Jd Shifau
for @g =T Uk TS A T 87

3 2
@ 13 W
7 1

(c) 52 (d) 5o



ATHSKI r all g pXa BY ADITYA RANJAN SIR

m“ 40. A card is drawn at random from a deck of 52
S cards. then find the subsequent probabilit
ang =444 = g 2 quent p y

\_—that this card is a king :@, queen?
52 ATI3 52 UHi @i Uk TgSl H H AE@e 3MEOX U T

-2 gt e wrar € 9 39 arg @t wifgeRar Ja @it
= & @® ovn w= Trew ar T #2
C,+94c
ans - ' ( " 3 2
52, @) 13 N E7
444 - g9 ¥ a5 3.
2 S5 13 €) 52 (4) 6o

<l(‘: 4



Y Conbination






ATHSKI: pr all gc

Kings&4  Queens4  Jaucsy 41

¢lc, X Ac, x 4c,

52C3

= /é()(qxq .
ISX'VX‘S{XS’\/XSO' 2¢
~ABX2x |

E il s ‘
RIXE ~ S3%

Qng -

BY ADITYA RANJAN SIR

Three cards are drawn at random from 52
cards. Find the probability of these cards being
a king, a queen and jack.

52 gl H | @ U Agfesed nuw Uy @ier A g
T UWl o U TS, Uk A0 3T S e B @
WTfaaRar Jrd ahifau|

16 . 1
1 " 1



ATHSE: pr all gc
faw Cads— 12 42.

:XA@_}_{\L

IMX 13 S2x54x5y QT‘

BY ADITYA RANJAN SIR

Find the probability that when a hand of 3
cards are drawn from a well shuffled deck.
What is the probability that it has:

TH AT i UTAahdl ATd HITA0 foh 5o Tk 3W=D1 &
W BT TE AI9T i MEST | 3 TNl & et Ser g
THHT T witgeRar & fan:

\})/all faces cards/@ul %9 wE

12 \9/11
@) 7115 1105

15 . 18
© 1120 4 7122




MATHSEI): r all g pXa | BY ADITYA RANJAN SIR

___Ql.u_ﬁ‘_it- 42. Find the probability that when a hand of 3
|- P(no lu'na) cards are drawn from a well shuffled deck.
4 What is the probability that it has:
- 498G $0 aTq @ UIaahdl J1d FITAU T o7& U =90 a0E
. 52(3 ¥ el TE A9 i MEST | 3 Ul @l THesten St g
:'-VEQEEW\XQ-Kza THe o Wit € fa:
‘ngg‘&)(s‘e. (ii) atleast one king/#&% # &W U I
- 2s 01 1300
T U= Qayyn Y5525 ®) 5225
A —
_ 221X2¢ 1400 1155
T -yg ©) 1515 4 1122
=22y

<38(3

-, Ss2g N0 King -
1204 —4° ST




MATHSRE)I): or all g

52 cards 43.
6 Red Wb flacc
Jred 4Bl
EY Oy

BY ADITYA RANJAN SIR

A person draws 3 cards from a pack of 52
cards. Find the probability of getting exactly
two red cards?

U SAfad 52 UHl ol Uk MESt § W 3 ud fHenreran
21 3Tk 21 A U 3 Hi WIS AT Swifew?

15 18
@) 34 b) 5o

20
© Ta M







ATHSKI r all g pXa BY ADITYA RANJAN SIR

44. A person draws 3 cards from a pack of 52 cards

wwh-fcp(aq Qg YSQS X 5226 (with replacement). Find the probability of
getting :
Withowr ggxgls)‘%‘ct Uw wafad 52 UHi (WiwgTOE @ W) @ Us ar
) w MES | 3 wE wiwar g1 e oo ya =
i WTTAehar ATd il au:

(i) all three red cards /=l &re1 &8

2
(@) 7o (b) -

WIN

1
© o ()



44. A person draws 3 cards from a pack of 52 cards
(with replacement). Find the probability of

getting :
Us SAfad 52 UHl (Wiaeemus & W) @i U A
& MEST | 3 wre wiwar g1 e uftomm w1

i WTTAehar ATd il au:
(i) all three red cards /=l &re1 &8

1 2
(@) 7o (b) -

1
8

WIN

(c (d)



BY ADITYA RANJAN SIR

A person draws 3 cards from a pack of 52 cards
(with replacement). Find the probability of

getting :
Us SAfad 52 UHl (Wiaeemus & W) @ Us A
w MEEt W 3 W wiwar g1 e uftom wrm &

i UTTaehar ATd il au:
(ii) that none of the cards is an ace
FE off U TaH £
v/ﬁzs .\ 1755
@Y 2197 () 1257
2174 4185
(c) (d)

4546 5246
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MATHSE1I: or all govt. exz | BYADITYA RANJAN SIR

45. A glass jar contains 6 white, 8 black, 4 red

8C 4t 3C q and 3 blue marbles. If a single marble is chosen
Qns - at random from the jar, what is the probability
2ic, blucy

mmaﬁmﬁ_gm,_im-aﬁts
i w9 £ afz uw F ¥ U e agfwmes wU
| T yTfaeRar &7

n " 21
(@) 5, M 21

1
(€) 25 (@ -



ATHS JUK '

whiky - 6 flad >4

46.

BY ADITYA RANJAN SIR

A bag contains 6 white and 4 black balls. 2
balls are drawn at random. Find the probability

that they are of same color.

U 91 § 6 WwE W 4 wien T2 o2 I
aefwm® ®u 9§ feen s 81 wifawar 3@ wifau
for a4t 1 &

1
@ 2 NC%G

1
(e) 15 d) 5
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s, | 46. A bag contains 6 white and 4 black balls. 2
whke > 6 flad(->4 balls are drawn at random. Find the probability

that they are of same color.
Mw}m:_@-xé.\/:gg TH 91 W 6 WhaE 3T 4 wien T2 F1 2 War @i

lo+q ’ aefwm® ®u 9§ feen s 81 wifawar 3@ wifau
Bty Rlou = QX'%\/:_Q f& & &
L a 1
” “ 2 84S
: 30 _ 8 1
T+%“%l o) 75 @



Red 4flus

- 3 XS5 =I5
Both ved = SR~ T
Bothfuw= 2 x Q - g
L TR

\

QA0S = Red+ \bz

= 18

0 o

BY ADITYA RANJAN SIR

47. There are 2 bags. First Bag contains 3 Red &
4 Blue balls and the second bag contains 5 Red
& 2 Blue balls. One ball is picked from each
of the bags. Find the probability that both balls
are of :

2 & ¥l UEe M W 3 e oW 4 e N2 ¥ ofw g
an " 5 we AW 2 el N ¥ e 9 9 US e
et st 21 wifaesar @me wifae fd T 1e E

(i) Same color/# U 17

- <
T ) 54
3 55

(¢} 29 (d) 25
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47.

BY ADITYA RANJAN SIR

There are 2 bags. First Bag contains 3 Red &
4 Blue balls and the second bag contains 5 Red
& 2 Blue balls. One ball is picked from each
of the bags. Find the probability that both balls

are of :

2 T ) UEA AN W 3 T AW 4 Areh TiE § AW g
mﬁsmmzﬁﬂatlmmﬁ@m
ﬁasw—ﬁm?ﬁ%lmﬁrmamaﬁfm < 2

(ii) different color/31&T 771

a8 o =
@) 26 ®) 55

26

(€) gg (d

49
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U Red

e B
W= 019 @
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. A bag contains 6 red balls, S yellow balls and
3 pink balls. Two balls are drawn at random.
What is the probaibility that none of the balls
are red?

Qch oI ﬂ.'ré iC @Wﬁ%u
ar 7T agfed® e Sdt g1 fedr off 12 & oo
T‘Tiqﬁmaﬁwmw

8 ..
13 (b) 13
6 S

(c) 13 (d) 13



BY ADITYA RANJAN SIR

A bag contains 6 red balls, S yellow balls and

3 pink balls. Two balls are drawn at random.
What is the probaibility that none of the balls
are red?
@ﬁﬁﬁé}ﬁﬁé,sﬁvﬁﬁé@mﬁégn
2l T2 At et wdr g1 fedr of 7T & e
I & TR B HT T WIaeRar 872

8 4
@) 15 "/ 13

5
(c) 13 (d) 13
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49. A bag contains 2 red, 3 green and 2 blue balls.

SC Two balls are drawn at random. What is the
ang§ - 2 probability that none of the balls drawn is
i CZ blue?

T dr D, Dt st ek W 1 7
@& fafaa ®u ¥ fenren Smar #1 st o urfaesan
¢ for frerrelt 78 =g o T et W@ 87

2 0 11
\9/% () 21

2
(c) e (d) -



BY ADITYA RANJAN SIR

pag.contains 3 red balls, S yellow balls and
7 pink balls.

the bag,

If 1 ball is drawn at random from
what is the Probability that it is pink

colour?
U 91 § 3 oer Tid, 5 Uiel Tid ud 7 Tensr e g
afe 9@ | 1 T aeEfmw et S« g, 9 36

TEATEl AT 6 T o g1 ahi a1 Wikl 87

(a)

(c)

£
3

1
4

2
N

(d) None of these
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Red (een Yellow 51. A bag contains 6 red balls, 4 green balls and 8

g & ellow balls. Three balls are drawn at random
6 from the bag. What is the probability that two

b= nd one ball is green?

6¢, X 4c, wF d H 6 Nt W, 4 T W 3w 8 deh W
ang= __— It | Agfeme o Tie freret St &1 9 wrfgesar
8C, ¥ o 213 ere(ee e fim v A2
=  6Xs \?/i S
r S ) 68 .
TS 7 9

7&,\ (€) &g (d) &g



ATHS JUK :
tleast \-/o;h
q{- eY
1,31Cm o'o*hgr
&-a'ﬂtﬂ
Pest Way
|- P(not gveen)
= 1- 8G
lo¢
1= dgyy
I.
. S
-. \~ ?a-zl/

S2.

BY ADITYA RANJAN SIR

A bag contains 4 white, 4 red and 2 green balls.
Two balls are drawn at random. What is the

probability that at least one balls is green?

U# 9 H 4 vaq, 4 o UE 2] T2 #1 S NS
g faren oar 81 &9 ¥ &9 s T & g

1 @ T @ w e §7
16 12
@) o5 (b) oo

21
©) 35 \9/4{
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Q44 _ "

S52. A bag contains 4 white, 4 red and 2 green balls.
Two balls are drawn at random. What is the
probability that at least one balls is green?
U# 9 W 4 vad, 4 oer ud 2 12 £ 2 NE
gefees fapenr T 81| 9 ¥ &0 s T & g

1 @ T @ w e §7
16 12
@) o5 (b) oo

a1
@ 22 NOZ4
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Total




© fwm>5 @Giun-0 Red -0
4 Qs —> Atleast 3 flu.

@A 30 210ther + 4 Quue 0 DHWL




O©. Q@& !—erd/W%\un
Q@W >, F]’\‘TGOSG 2 ved.

CA:} ans- Ovyed 22 0ther 1 dved 2 Lother + 2ved 20 otfher

. Tored
~ \f
= Go X C2 + 41(0(\1(’ 4 qcaxuco
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R33 W26 627  53. Abagcontains 3 red, 6 white and 7 black balls.
Three balls are drawn at random, then find the
probability that all the three balls are black?

_ ‘1(3 U& a9 H 3 e, 6 Aha 3T 7 wied e g1 A D
oWy = e argfesa ur o fepret Sdr § 9 39 A @i widesan
3 ATd shifaw T @40 2 wren 87

AXNIEXY x o 1 13
3 Y 16 4 20
= |

|6
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B- 3 Q 24 54. A basket contains three blue and four red balls.

If three balls are drawn at random from the
basket, what is the probability that all three

are either blue or red?
1G U 2 H A Al o 91 o g §1 afe Sarda
M W TR | A9 ] Henrel S, 91 i & ar A

’5%— AT a1 ST B i famadt S9rEEr 7

Jxgks i
A%\ L \9/’17

- '.S’ 3 i
Nys ot



Q RIY, 625, Y23

1QalL QBalk Sball.
J(i) P(R) = "‘C, =(Y_ . _ \(Cz |) ol thvee ballg or
BT Csj (i)P(R) = iS¢, oML tither ved, Bl Yellow
i) P(8)=5¢ .« | (i)ele). SCa [ =18+7G 43¢
ISC, 18 3 ISCZ 'SCS

T =L u‘ii)P(‘f)"'*'?’.g2 " 2Red and LYelton,
Ca _ "ICQX 3c|

\'

ls(’3
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((\/'\ 5S5. A box contains S green , 4 yellow and 3 white
5Co 4 (-((3+ 3C3 marbles. Three marbles are drawn at random.
5 What is the probability that they are of the

\2(«5 _same color ?

0 U digd ® 5 7, 4 Wil 3w 3 wwa wA §) d=
= SXZ'XZWL%ZXZ/’*Z/K}‘/@ #9 argfms w0 4 farel s &) @ darar e
ST ~ ITEA TR E ?
2 XX\ X0
3 a 41
. <
220‘“3 . 3
22’0/\“{ i) == (d)

44
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govt. ex: | BYADITYA RANJAN SIR

56. A basket contains 10 apples and 20 oranges
out of which 3 apples and 5 oranges are
defective. If we choose two fruits at random,
what is _the probability that either both are
oranggoth are non defective?

U At 0 10 HE 3T 20 WA € oA @ 3 ma

I’ 5 WAl @E )| afq 79 A Tell ol agiee B

H gAa €, 9 39 @ wifawar € f& oar A e
y  Hat & = S Sraqut @ 872

SXisy
2 136 o 39 ;
(@) 345 (b) g7
316 4 158
= 3% S aas 4) 235



Atleast 4 pass = Total- No pass

- 31X
-3

| = L

2

1
&

57.

The probability of A and B clearing an exam

2 3
is 3 and 2 respectively .What is the
probability that atleast one of them clears the
exam ?

ferdt udielr § A 3T B & IHIUT &4 i WITdehdar

m@h%%umﬁﬁm@m@%uﬁm

IHIOT T ahi UTTaehar T &7
1 1
(a) 12 (b) i
11 1
\ " 12 @ 5
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S58. A problem is given to three students whose

Golve = Total- mot Solved

- 1 1 1
= 4 - é.,x,%’(q&’ chances of solving it are 2’3 and a
= 1= 4 respectively. What is the probability that the
- problem will be solved?

32, #= BrEl W Us guen & S § faue 7 & @

1z
. 2 2 . % : . :
HYTEAT HIT: E,EWmenmzﬁ

L I AR LR L

1 1
(@) b)

5 Q) 13
o 9 12



MATHSEI:
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{1~ MY4 XY
7 9 S

= 4 - ﬁ

(S

- QS|

315

BY ADITYA RANJAN SIR

The probability that three students A, B and

3 S 1

C solve a problem are 7’9 and 5

respectively. What is the probability that the
problem is solved?

a9 BTt A, B 31T C EWT Ush HHET i Be1 i ol

3 S

UTiaehar SHH9T: =1 afw glmaagﬂgmﬁ

uTfaeRar s=r gri?

SC CGL TIER- II 06/03/2023

64 . 32
(@) 3715 ®) 371s

251 155

\ 315 d) 37



60. A man and his wife appear in an interview for

two vacancies in the same post. The

1

probability of husband’s selection is (;J and

the probability of wife’s selection is@. What

is the probability that only one of them is
selected ?

Ush Sl 3T IHaE UST Us 31 U2 W 3 fifwal &
foo mg=sr o e 719 #1 ufa & === = wifassan

(lJ HWW&»aaﬂﬁm(%

7
Fael U o oA A Sl WaeRar @4 g ?

J%la‘—lﬁﬁ

&5 ®

W
n|H | -

c) + (d)



Qng

\

X X
xS + BX%S
AX2 4+ gl
§+ 5
S +
e
L 2
S ¢

61.

A brother and a sister appear for an interview
against two vacant posts in an office. The

1
probability of the brother’s selection is 5 and

1
that of the sister’s selection is 5 . What is the

probability that only one of them is selected?
U# 9E 3N US "@g9 Us o™ o 31 i uE &

farg wanesw & foU oA 21 W & =wEw 6 Wi
1 " " i v dor o  was
- AGT WEF & AT HI WA 2 £ 399 |9 &Had
U% & 94 A i Aaadhar @1 g7

L o 2
() 3 (b)
\/E i =
(Y 5 d 3



X " 62. A speaks truth in 3/1' %ases and B in/S

X X
B AxB of cases. What is the probability that they
a { + 4 ¥y likely to contradict each other, narrating the
4 S 4 S

same incident. 3/5
A5y et % wwr d@emn € aft BEO) wwe #
- _;36-1-_3_ -_1 e AT £ THET T Wirawar € fF 9 us @ e
’ & AU &d T Ueh-TH N @ST &

3

;4
(@) 7o (b) 55
9

1
€} 20 (@) 7

o=

S =
ey
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63. A speaks the truth in 60% cases while B
speaks the truth in 40% of the cases. What is

the probability that they will contradict each
other in a case ? -2-

lAmﬁmmzaﬂthﬁ
qd = €1 3EET o Wifaehar & 6 o ue wwer |
qaqaimwﬁm
16

13
(a) 5z NPT

12
() 1 @ e



64. A speaks the truth 5 out of 7 times and B
speaks truth 8 out of 9 times. What is the
probability that they contradict each other in
stating the same fact?

A, 7 9 597 9 dleidl € 3T B, 9 § 9 8 A
T Aledl &1 SEaT 9T witdesar g fom @ uw &
amm}mﬁ@m Feq HN?

(a) - (b) 5
1
(c) i (473
A
(T\' ?? (\89
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6 gt
ong = 18w 2 { other ~+ QR O other
To+ad
B IS‘ T Caﬁ = SXIo 4 Sxy 2
At b ) \le
leagy =2 5
1bu‘4bﬂu: i~'lh() 2 4
= 0
| - # - .‘1% = |-3
S - i
) 3%7 !
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Out of 17 applicants 8 boys and 9 girls. Two
persons are to be selected for the job. Find the

probability that at least one of the selected
persons will be a girl.

8 Goy*
q GirlS At (east 1girl

JQivLEL Goy + 26uirls O Boy 17 3deehi § ¥ 8 ©gah 3 9 wsfewar & T &
Totad fer 21 zaferal @ s fwar e €1 wifteRar F @i
= 9¢,x 8¢ 4 A, for = U wfdl ¥ ¥ wW W W U orga Ee
- (a) = (b) -
_ o= s
T %8+ 9xery 34 +
= il 20
K68 ©) 34 @) o
- \é\.‘ -&'\‘
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-2 Atleast L girl =

BY ADITYA RANJAN SIR

4- No gi rL 65. Out of 17 applicants 8 boys and 9 girls. Two

persons are to be selected for the job. Find the
probability that at least one of the selected

persons will be a girl.

17 mdEE § R 8 v ohw o Dt # e
fera 2 safwat @ = farar s 81 wifteRar Fa wie
for = U sfwal 4 9 w9 | w9 TS TSt s

19 S
@ 34 b) o

20
© 34 NOZ
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VCN\ @ Two friend Himanshu and Naman appeared in
;Di%" an exam. The probabmty that Himanshu will

qualify the exam @ d Naman will qualify

H | N
q@g the exam .he probability that both will

L___S7. 107 |

- only Himansh \ qualify the exam Find the probability
- y r
i Y aman that only one of them qualify the exam.
10+ad at foz fewivr ofm 0= w= giten o wimfem go feaiy
- 3 < - # o \
%=L| mm&nmmmmﬁmzozﬁwmaﬁ
100, 100 1
gitygn Il &I 0 £ 2 & udftar o Il
12
% ®) 700
15 14
) o (d)

111 112
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37 55 67. In a cricket world cup the probability that India
(@) 55 (b) g5

1
55 will win the cup is & The probability of

37 L 55
60 4 50

1
Pakistan winning the cup is _ and of Australia

S
2 1
ang = India + Pawe + Aus winning the cup is . What is the probability
- L + | \ that either of these 3 teams India, Pakistan and
R -§+ = Australia would win the world cup ?
v forae fava &0 o ama & &0 & JaT & wiaea
- IS*R 40 L 4w @ wu e @ whwa o § s
4 S
. So 1
- 3\'1 stefern & w0 e @ wiwwa o & gwE @
60 wifgaar € f 39 3 21af o 9 8 v 9w, wieEE

Note : Only one team can win the cup
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ﬂlPhO‘bd 226 68. _Two letters are chosen from English Alphabet.
/\ What is the probability that both are vowels.
5 Vowel 2| Consomant st qutaTem | &1 NUT WA U §1 FAT WA §
f& 2t =
2] 1
ang= 2. (@) — \(y/i
26 65 65
2 3
= 8X4 2 ©) &5 () &5
13 6% . ~ ——
4 S




2| conSonant

3> Lty
—

-
Q vowed & _Lonsonant .

if’ < 5 vowdlrs
f
@‘g/;g(emr ® 2~ lethr ©
E&—)vowelj Q- tnsonant
SC 2)
Ong=- 2 _ C
26C = On§ B g ang -
2 26 C2

SC2 X.Qlc,
2
6(_3




21 consonant

HLQhObd < 5 VowY

@ 4- Wilay ® 4 whr
1 vowel£ 3 consonant 4 vowel ey Ycong -

2 >}
4“ Qans = Sc;l->_< lCS Owy = Sc-q -+ 'CL,

26C<1 26 CL|




21 consonant

Hmmbd < 5 VowY

| ©® 4 whr
@ o Uy 2 voue !
QULQH .‘. VW o
@ IVL2C +3V21C +4veoc
AVE3C+2v22¢ +3v21¢ 4 Yveocr S
Tolad
9
= Xg45 X, 4 SCax®!

@ 5

j“ NO VOu)q
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\-—-—




5 Ly
O Atleast JIvowd

5 LW

Va
E

)

’ () Atmos + L vouf

2 3 4
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)
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35 Wl r
@ M most 1 vowe

_OVe3c 4 J1yL2(C

O,

3- Wity
At most 2 vowe/

OV 3C 4+ 4vVR2C +2v2.C

SC 2] 2\
oX G + 50.x%g + Se, w2,
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C> 5 V=24 69. w of 9 letters; S consonants and
e 4 vowels. Mlﬂ;%i are chosen at random.
Vo O | 6@ What is the proba y that more than one
Ca 3 & Al \vowel will be selected ?
U& Ve | 9 e T §; 5 WA 30N 4 W) agies
ang;(C'CQXSC,)*F("CgXSCo)m ¥ dF FeT ¥H A4 2 Us ° fuaE @ o
qc WA I WTfaeRar &m &7
3
= (4%@, = b
27%59+<‘&x9 @ 22 Y a2
- Sz 27 37
Xy (€) 25 (d) 45
o,
}: K |'l

B



70. A letter is taken out at random from
‘ASSISTANT’ and another is taken out from

‘STATISTICS’. The probability that they are
the same letter is :

U&F 3P ‘ASSISTANT’ ¥ agfess w9 # frewmen
AT & 3T gWU ‘STATISTICS' § framrenm wmar #1
durar & & 9 e 8 atew ©

35
@) 96 \9/;_5

19
(g) 96 (d) None of these
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leop Year 36600yS 71, Find the probability that a leap year will have:
52weel = 52 funda~) Tek T a6 H =1 UftoTe WrE T @i uTideRar A

ar?rfaq:
ad P(e)- S2” (D (i) atleast 52 Sundays/®W ¥ & 52 Tfaan
- (a) 4 (b) 5

oA (d) 3

82‘33' SL!_
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leap Year 5 52 weeks 2days =1,

Find the probability that a leap year will have:

g 99 o T gftomg ura & & wriaeRdar
;_"u:" L“: ’ (i) exactlz 52 Sundays/ [faeret 52 Thaaw
g (C @ 7 \JW'/
Y, fn
i Sas © o @ o
ns. 5
]
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Lop Year =5 | 52wuks] 2d245 77 Find the probability that a leap year will have:

U+ 99 o e gftonmm ure &R & uriaesar A
CSun M; aﬁﬁmz
Mon Tus (iii)exactly 53 Sundays/f@@=ra 53 faan
Tw, wed 8 4
wed Thy | | (@) - b) o
Thy 4 5
Fa Sat \/"./_2'; (d) 8
- D

—

=
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1,2,3%465.6.17,8,%,10 72. A person can hit a target 5 times out of 8
' shots. If he fires 10 shots, what is the

[’ﬂ(j Ph( G- P )Cn-'r)) probability that he will hit the target twice?
. U Afed 8 v § ¥ 5 aw fomr &om @ahar 2
a9, (5 {72 ° T 10 v ww &, W g
5)(®)
=

=it T a8 SEmT fHem=Er & @m?
pe- JBYQXSXS)(38

22X alo— 1135x 3° 1165 x 3°
S (8) —gw (b) —guo

- H2sxg] /
X3 1175 x 3° \“ynzsxa“

8'6 (c) g10
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73.

By ADITYA RANJAN SIR

In a biased coin the probability of getting a
head is 0.4, if we toss a coin 10 times, what
is the probability of getting exactly three
heads?

@amr;'ﬁ:a%ﬁmalﬁaﬁuﬁm&a%,v&
0 U fags &0 10 aX Ived &, 9 Ste e fem
3T T UTfaeRar &= 872

x 3° 27 x 3°
(a) 59 (b) 510

(€] 2° x 3° ) 27 x3°
C

510 59
20 ]

SUR



